	Board Fee	Professional Fee	Texas Online	Peer Assistance	Patient Protection	83rd Leg - HB 3201	84th Leg - SB 195	Total Fee
DENTIST								
Application by Exam	\$215.00	\$200.00	\$5.00	\$7.00	\$5.00	\$55.00	<u>\$13.00</u>	\$475.00 \$500.00
Annual Renewal	\$150.00	\$200.00	\$10.00- \$4.00	\$ 9.00 - \$7.00	\$1.00	\$55.00	<u>\$13.00</u>	\$425.00 \$430.00
Annual Renewal - Late 1 to 90 days	\$225.00	\$200.00	\$10.00- \$4.00	\$9.00 \$7.00	\$1.00	\$55.00	<u>\$13.00</u>	\$500.00 \$505.00
Annual Renewal - Late 90 to 365 days	\$300.00	\$200.00	\$10.00 \$4.00	\$9.00 \$7.00	\$1.00	\$55.00	<u>\$13.00</u>	\$575.00 \$580.00
Licensure by Credentials	\$2,800.00	<u>\$200.00</u>	\$5.00	<u>\$7.00</u>	\$5.00	\$55.00	<u>\$13.00</u>	\$2855.00 \$3085.00
Temporary Licensure by Credentials	\$750.00	\$200.00	\$5.00	<u>\$7.00</u>	\$5.00	\$55.00	<u>\$13.00</u>	\$750.00 \$1035.00
Provisional License	\$100.00							\$100.00
Faculty Initial Application	\$115.00		\$4.00	<u>\$7.00</u>	\$5.00	<u>\$55.00</u>	<u>\$13.00</u>	\$120.00 \$199.00
Faculty Annual Renewal	\$95.00		\$10.00 \$3.00	\$9.00 \$7.00	\$1.00	\$55.00	<u>\$13.00</u>	\$115.00 \$174.00
Faculty Annual Renewal - Late 1 to 90 days	\$142.50		\$10.00 \$3.00	\$9.00 \$7.00	\$1.00	\$55.00	<u>\$13.00</u>	\$162.50 \$221.50
Faculty Annual Renewal - Late 90 to 365 days	\$190.00		\$10.00 \$3.00	\$9.00 \$7.00	\$1.00	\$55.00	<u>\$13.00</u>	\$210.00 \$269.00
Conversion Fee - Faculty to Full Privilege	\$50.00							\$50.00
Nitrous Oxide and Level 1 Anesthesia Application	\$32.00							\$32.00
Nitrous Oxide and Level 1 Anesthesia Annual Renewal	\$10.00							\$10.00
Level 2 thru Level 4 Anesthesia Application	\$60.00							\$60.00
Level 2 thru Level 4 Anesthesia Annual Renewal	\$10.00							\$10.00
Portability of Anesthesia Level 3 thru Level 4 Application	\$120.00							\$120.00
Application to Reactivate a Retired License	\$75.00							\$75.00
Reinstatement of a Canceled Dental Licesne	\$850.00 \$860.00							\$850.00 \$860.00
Duplicate License / Renewal	\$25.00							\$25.00

	Profes Board Fee Fe		Peer Assistance	Patient Protection	83rd Leg - HB 3201	84th Leg - SB 195	Total Fee
Conversion Fee - Full Privilege to Faculty	\$50.00						\$50.00
Conversion Fee - Temporary Licensure by Credentials to Full Privilege	\$2,050.00 \$200.0	<u>0</u> \$5.00	<u>\$7.00</u>	<u>\$5.00</u>	\$55.00	<u>\$13.00</u>	\$2105.00 \$2335.00
DENTAL HYGIENIST							
Application by Exam	\$115.00	<u>\$4.00</u>	\$2.00	\$5.00			\$120.00 \$126.00
Annual Renewal	\$100.00	\$ 6.00 \$3.00	\$2.00	\$1.00			\$109.00 \$106.00
Annual Renewal - Late 1 to 90 days	\$150.00	\$6.00 \$3.00	\$2.00	\$1.00			\$159.00 \$156.00
Annual Renewal - Late 90 to 365 days	\$200.00	\$6.00 \$3.00	\$2.00	\$1.00			\$209.00 \$206.00
Licensure by Credentials	\$630.00	\$4.00	\$2.00	\$5.00			\$630.00 \$641.00
Temporary Licensure by Credentials	\$220.00	<u>\$4.00</u>	<u>\$2.00</u>	<u>\$5.00</u>			\$220.00 \$231.00
Faculty Initial Application	\$115.00	<u>\$4.00</u>	\$2.00	\$5.00			\$120.00 \$126.00
Faculty Annual Renewal	\$83.00	\$6.00 \$3.00	\$2.00	\$1.00			\$92.00 \$89.00
Faculty Annual Renewal - Late 1 to 90 days	\$124.50	\$6.00 \$3.00	\$2.00	\$1.00			\$133.50 \$130.50
Faculty Annual Renewal - Late 90 to 365 days	\$166.00	\$6.00 \$3.00	\$2.00	\$1.00			\$175.00 \$172.00
Conversion Fee - Faculty to Full Privilege	\$50.00						\$50.00
Application to Reactivate a Retired License	\$75.00						\$75.00
Reinstatement of a Canceled Dental Hygiene License	\$218.00 \$212.00						\$218.00 \$212.00
Duplicate License / Renewal	\$25.00						\$25.00
Nitrous Oxide Cons Sed Monitoring Application	\$12.00						\$12.00
Nitrous Oxide Monitoring Duplicate Certificate	\$10.00						\$10.00
Conversion Fee - Full Privilege to Faculty	\$50.00						\$50.00
Conversion Fee - Temporary Licensure by Credentials to Full Privilege	\$410.00	<u>\$4.00</u>	<u>\$2.00</u>	<u>\$5.00</u>			\$410.00- \$421.00

	Board Fee	Professional Fee	Texas Online	Peer Assistance	Patient Protection	83rd Leg - HB 3201	84th Leg - SB 195	Total Fee
DENTAL ASSISTANT								\$0.00
Initial Application	\$31.00				\$5.00			\$36.00
Annual Renewal	\$29.00		\$2.00		\$1.00			\$32.00
Annual Renewal - Late 1 to 90 days	\$43.50		\$2.00		\$1.00			\$46.50
Annual Renewal - Late 90 to 365 days	\$58.00		\$2.00		\$1.00			\$61.00
Duplicate License / Renewal	\$25.00							\$25.00
Pit and Fissure Sealant Application	\$30.00							\$30.00
Pit and Fissure Sealant Renewal	\$18.00							\$18.00
Duplicate Pit Fissure Certificate	\$15.00							\$15.00
Nitrous Oxide Cons Sed Monitoring Application	\$12.00							\$12.00
Nitrous Oxide Monitoring Duplicate Certificate	\$10.00							\$10.00
Coronal Polishing Application	\$12.00							\$12.00
Duplicate Coronal Polishing Certificate	\$10.00							\$10.00
DENTAL LABORATORIES								
Application	\$120.00				\$5.00			\$125.00
Annual Renewal	\$131.00		\$3.00 \$4.00		\$1.00			\$135.00 \$136.00
Annual Renewal - Late 1 to 90 days	\$196.50		\$3.00 \$4.00		\$1.00			\$200.50 \$201.50
Annual Renewal - Late 90 to 365 days	\$262.00		\$3.00 \$4.00		\$1.00			\$266.00 \$267.00
Duplicate Certificate	\$25.00							\$25.00
OTHER								
Mobile Application	\$120.00							\$120.00

		Professional	Texas	Peer	Patient	83rd Leg -	84th Leg -	
	Board Fee	Fee	Online	Assistance	Protection	HB 3201	SB 195	Total Fee
Annual Mobile Renewal	\$60.00							\$60.00
Duplicate Certificate Mobile Certificate	\$15.00							\$15.00
Dentist Intern / Resident Prescription Privileges	\$50.00						<u>\$13.00</u>	\$50.00 \$63.00
Dental Assistant Course Provider	\$100.00							\$63.00 \$100.00
Jurisprudence	\$55.00 \$54.00							\$55.00 \$54.00
Licensure Verification without Seal	\$54.00 \$4.00							\$54.00 \$4.00
Licensure Verification with Seal	\$9.00							\$9.00
Criminal History Letter	\$25.00							\$25.00
Printed Copy - Rules and Regulations	\$20.00							\$20.00
Printed Copy - TX Occupations Code - Dental Practice Act	\$15.00							\$15.00
Printed Consumer Signage	\$5.00							\$5.00
Board Scores	\$10.00							\$10.00